## Czechoslovak Mathematical Journal

René Erlín Castillo; Julio C. Ramos Fernandez<br>BMO-scale of distribution on $\mathbb{R}^{n}$

Czechoslovak Mathematical Journal, Vol. 58 (2008), No. 2, 505-516
Persistent URL: http://dml.cz/dmlcz/128274

## Terms of use:

© Institute of Mathematics AS CR, 2008

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://dml.cz

# BMO-SCALE OF DISTRIBUTION ON $\mathbb{R}^{n}$ <br> René Erlín Castillo, Ohio, Julio C. Ramos Fernández, Edo. Sucre 

(Received April 26, 2006)

Abstract. Let $S^{\prime}$ be the class of tempered distributions. For $f \in S^{\prime}$ we denote by $J^{-\alpha} f$ the Bessel potential of $f$ of order $\alpha$. We prove that if $J^{-\alpha} f \in \mathrm{BMO}$, then for any $\lambda \in(0,1)$, $J^{-\alpha}(f)_{\lambda} \in \mathrm{BMO}$, where $(f)_{\lambda}=\lambda^{-n} f\left(\varphi\left(\lambda^{-1} \cdot\right)\right), \varphi \in S$. Also, we give necessary and sufficient conditions in order that the Bessel potential of a tempered distribution of order $\alpha>0$ belongs to the VMO space.

Keywords: BMO, VMO, John and Niereberg, Bessel potential
MSC 2000: 32A37

## 1. Introduction

The space of functions of bounded mean oscillation first appeared in the work of John and Nirenberg [1] in the context of nonlinear partial differential equations that arise in the study of minimal surfaces. The space of function of bounded mean oscillation, or BMO, naturally arises as the class of functions whose deviation from their means over cubes is bounded; $L_{\infty}$ functions have this property, but there exist unbounded functions with bounded mean oscillation. Such functions are slowly growing and they typically have at most logarithmic blow up. The space BMO shares similar properties with the space $L_{\infty}$ and it often serves as a substitute for it. For instance classical singular integrals do not map $L_{\infty}$ into $L_{\infty}$ but $L_{\infty}$ into BMO. And in many instances interpolation between $L_{p}$ and BMO works just as well as between $L_{p}$ and $L_{\infty}$. But the role of the space BMO is deeper and more far reaching than that. This space crucially arises in many situations in analysis, such as in the characterization of the $L_{2}$ boundedness of nonconvolution singular integral operators with standard kernels.

The following remarkable result is due C. Fefferman (announced in Characterizations of bounded mean oscillation, Bull. Amer. Soc. 77 (1971), 587-588): the dual of $H^{1}$ is BMO.

In this paper we prove that if $J^{-\alpha} f \in \mathrm{BMO}$, where $f$ is a tempered distribution and $J^{-\alpha} f$ is the Bessel potential of $f$ of order $\alpha$, then for any $\lambda \in(0,1)$, $J^{-\alpha}(f)_{\lambda} \in$ BMO (see Theorem 1), where $(f)_{\lambda}=\lambda^{-n} f\left(\varphi\left(\lambda^{-1}\right)\right), \varphi \in S$. Also, we prove (see Theorem 2) that $J^{-\alpha} f \in \mathrm{VMO}$ if and only if $J^{-\alpha} f \in \mathrm{BMO}$ and $\lim _{\lambda \rightarrow 0^{+}} \lambda^{\alpha}\left\|J^{-\alpha}(f)_{\lambda}\right\|_{\text {BMO }}=0$.

## 2. Definition and notations

In this section, we gather definitions and notations that will be used throughout the paper.

For any $r>0$ and $x \in \mathbb{R}^{n}$ we will denote by $B(x, r)$ the closed ball of radius $r$ in $\mathbb{R}^{n}$ centered at $x$. A function is said to be of bounded mean oscillation if its mean oscillation over all cubes is bounded. Precisely, given a locally integrable function $f$ on $\mathbb{R}^{n}$ and a measurable set $Q$ in $\mathbb{R}^{n}$, denote by

$$
f_{Q}=\frac{1}{|Q|} \int_{Q} f(y) \mathrm{d} y
$$

the mean of $f$ over $Q$, where $|\cdot|$ denotes the Lebesgue measure on $\mathbb{R}^{n}$. Then the oscillation of $f$ over $Q$ is the function $\left|f-f_{Q}\right|$ and the mean oscillation of $f$ over $Q$ is

$$
\frac{1}{|Q|} \int_{Q}\left|f(x)-f_{Q}\right| \mathrm{d} x
$$

Definition 1. For $f$ a real-valued locally integrable function on $\mathbb{R}^{n}$, set

$$
\|f\|_{\mathrm{BMO}}=\sup _{Q} \frac{1}{|Q|} \int_{Q}\left|f(x)-f_{Q}\right| \mathrm{d} x
$$

where the supremum is taken over all cubes $Q$ in $\mathbb{R}^{n}$. The function is called of bounded mean oscillation if $\|f\|_{\text {BMO }}<\infty$.

For instance, if $F$ is an integrable function on $\mathbb{R}^{n} \times \mathbb{R}^{n}$ such that $F(\cdot, y) \in \mathrm{BMO}$ for all $y \in \mathbb{R}^{n}$, then the function $f$ given by

$$
f(x)=\int_{\mathbb{R}^{n}} F(x, y) \mathrm{d} y
$$

satisfies

$$
\begin{equation*}
\left\|\int_{\mathbb{R}^{n}} F(\cdot, y) \mathrm{d} y\right\|_{\mathrm{BMO}} \leqslant \int_{\mathbb{R}^{n}}\|F(\cdot, y)\|_{\mathrm{BMO}} \mathrm{~d} y . \tag{1}
\end{equation*}
$$

Indeed, let $Q$ be a cube in $\mathbb{R}^{n}$, then using Fubini's theorem we have

$$
\begin{aligned}
\frac{1}{|Q|} \int_{Q}\left|f(x)-f_{Q}\right| \mathrm{d} x & =\frac{1}{|Q|} \int_{Q}\left|\int_{\mathbb{R}^{n}} F(x, y) \mathrm{d} y-\frac{1}{|Q|} \int_{Q} \int_{\mathbb{R}^{n}} F(z, y) \mathrm{d} y \mathrm{~d} z\right| \mathrm{d} x \\
& \leqslant \frac{1}{|Q|} \int_{Q} \int_{\mathbb{R}^{n}}\left|F(x, y)-\frac{1}{|Q|} \int_{Q} F(z, y) \mathrm{d} z\right| \mathrm{d} y \mathrm{~d} x \\
& =\int_{\mathbb{R}^{n}} \frac{1}{|Q|} \int_{Q}\left|F(x, y)-\frac{1}{|Q|} \int_{Q} F(z, y) \mathrm{d} z\right| \mathrm{d} x \mathrm{~d} y \\
& \leqslant \int_{\mathbb{R}^{n}}\|F(\cdot, y)\|_{\text {BMO }} \mathrm{d} y .
\end{aligned}
$$

This completes the proof of (1).
The space of functions of vanishing mean oscillation VMO was introduced by Sarason [2] as the set of integrable functions $f$ on $\mathbb{R}^{n}$ satisfying

$$
\lim _{\delta \rightarrow 0} \sup _{Q:|Q| \leqslant \delta}\left(\frac{1}{|Q|} \int_{Q}\left|f(x)-f_{Q}\right| \mathrm{d} x\right)=0
$$

or

$$
\lim _{N \rightarrow \infty} \sup _{Q: l(Q) \geqslant N}\left(\frac{1}{|Q|} \int_{Q}\left|f(x)-f_{Q}\right| \mathrm{d} x\right)=0
$$

here $Q$ denotes cubes in $\mathbb{R}^{n}$. Then VMO $\left(\mathbb{R}^{n}\right)$ is the closure in the $\operatorname{BMO}\left(\mathbb{R}^{n}\right)$ norm of the space of continuous functions that vanish at infinity. It is known that $f \in \mathrm{VMO}$ if and only if

$$
\begin{equation*}
\lim _{h \rightarrow 0}\|f-f(\cdot-h)\|_{\mathrm{BMO}}=0 \tag{2}
\end{equation*}
$$

(see Theorem 1 in [2]).
Let $S^{\prime}$ denote the space of tempered distributions on $\mathbb{R}^{n}$, note that BMO $\subset S^{\prime}$. For every $f \in S^{\prime}$ and $s>0$, we define the dilation $(f)_{s}$ of the distribution $f$ as follows:

$$
(f)_{s}(\varphi)=s^{-n} f\left(\varphi\left(s^{-1} \cdot\right)\right), \quad \varphi \in S
$$

If $f$ is a function, them $(f)_{s}(x)=f(s x)$, for almost all $x \in \mathbb{R}^{n}$.
Let $-\infty<\alpha<\infty$. The Bessel potential $J^{-\alpha}$ of order $\alpha$ is defined by

$$
F\left(J^{-\alpha} \psi\right)=\left(1+|\xi|^{2}\right)^{-\alpha / 2} F(\psi),
$$

$\xi \in \mathbb{R}^{n}, \psi \in S^{\prime}$. Here $F: S^{\prime} \rightarrow S^{\prime}$ denotes the Fourier transform on $S^{\prime}$. For $f \in L_{1}$ we have

$$
F(f)(\xi)=\int_{\mathbb{R}^{n}} f(x) \mathrm{e}^{-i \xi \cdot x} \mathrm{~d} x
$$

If $\alpha>0$, then the Bessel potential $J^{-\alpha}$ is a convolution type operator,

$$
J^{-\alpha} f(x)=\int_{\mathbb{R}^{n}} f(y) G_{\alpha}(x-y) \mathrm{d} y
$$

where the Bessel potential kernel $G_{\alpha}$ is defined by

$$
\begin{equation*}
G_{\alpha}(x)=\frac{1}{(2 \pi)^{n / 2} 2^{\alpha / 2} \Gamma\left(\frac{\alpha}{2}\right)} \int_{0}^{\infty} t^{(\alpha-n) / 2} \mathrm{e}^{-|x|^{2} / 2 t} \mathrm{e}^{-t / 2} \frac{\mathrm{~d} t}{t} \tag{3}
\end{equation*}
$$

It is also known that

$$
\int_{\mathbb{R}^{n}} G_{\alpha}(x) \mathrm{d} x=1
$$

(see [3]).

## 3. Main Results

Suppose $f \in \mathrm{BMO}$ and $g \in L_{1}$. In general, the convolution $f * g$ is not defined as an absolutely convergent integral. However, the operator $f \rightarrow f * g$ is defined on the space BMO as the adjoint to the corresponding convolution operator on $H^{1}$. Moreover we have the following.

Lemma 1. If $f \in \mathrm{BMO}$ and $g \in L_{1}$, then $f * g \in \mathrm{BMO}$ and

$$
\|f * g\|_{\mathrm{BMO}} \leqslant\|g\|_{1}\|f\|_{\mathrm{BMO}}
$$

Proof. We have,

$$
\begin{aligned}
& \frac{1}{|Q|} \int_{Q}\left|(f * g)(x)-(f * g)_{Q}\right| \mathrm{d} x \\
& \quad=\frac{1}{|Q|} \int_{Q}\left|\frac{1}{|Q|} \int_{Q}((f * g)(x)-(f * g)(y)) \mathrm{d} y\right| \mathrm{d} x \\
& \quad=\frac{1}{|Q|} \int_{Q}\left|\frac{1}{|Q|} \int_{Q}\left[\int_{Q}(f(x-t)-f(y-t)) g(t) \mathrm{d} t\right] \mathrm{d} y\right| \mathrm{d} x
\end{aligned}
$$

by Fubini's theorem

$$
\begin{align*}
& \frac{1}{|Q|} \int_{Q}\left|(f * g)(x)-(f * g)_{Q}\right| \mathrm{d} x  \tag{4}\\
& \quad=\frac{1}{|Q|} \int_{Q}\left|\frac{1}{|Q|} \int_{Q}\left[\int_{Q}(f(x-t)-f(y-t)) \mathrm{d} y\right] g(t) \mathrm{d} t\right| \mathrm{d} x \\
& \quad \leqslant \frac{1}{|Q|} \int_{Q} \int_{Q}\left|f(x-t)-f_{Q}\right||g(t)| \mathrm{d} x \mathrm{~d} t \\
& \quad \leqslant\left(\int_{Q}|g(t)| \mathrm{d} t\right)\|f\|_{\text {BMO }}
\end{align*}
$$

Thus

$$
\|f * g\|_{\text {Вмо }} \leqslant\|g\|_{1}\|f\|_{\text {вмо }} .
$$

This completes the proof of Lemma 1.

Theorem 1. Let $f \in S^{\prime}, \alpha>0$, and $J^{-\alpha} f \in$ BMO. Then for every $\lambda$ with $0<\lambda<1$ we have $J^{-\alpha}(f)_{\lambda} \in$ BMO. Moreover, there exists a constant $C_{\alpha}>0$, depending only on $\alpha$, such that

$$
\sup _{0<\lambda<1} \lambda^{\alpha}\left\|J^{-\alpha}(f)_{\lambda}\right\|_{\text {BMO }} \leqslant C_{\alpha}\left\|J^{-\alpha} f\right\|_{\text {BMO }} .
$$

Proof. Let us begin by observing that

$$
J^{-\alpha}(f)_{\lambda}=(f)_{\lambda} * G_{\alpha}
$$

so

$$
\begin{aligned}
\lambda^{\alpha} & \left\|J^{-\alpha}(f)_{\lambda}\right\|_{\mathrm{BMO}}=\lambda^{\alpha} \sup _{Q}|Q|^{-1} \int_{Q}\left|J^{-\alpha}(f)_{\lambda}(x)-\left(J^{-\alpha}(f)_{\lambda}\right)_{Q}\right| \mathrm{d} x \\
& =\lambda^{\alpha} \sup _{Q}|Q|^{-1} \int_{Q}\left|\int_{\mathbb{R}^{n}}(f)_{\lambda}(y) G_{\alpha}(x-y) \mathrm{d} y-|Q|^{-1} \int_{Q} J^{-\alpha}(f)_{\lambda}(z) \mathrm{d} z\right| \mathrm{d} x \\
& =\lambda^{\alpha-n} \sup _{Q}|Q|^{-1} \int_{Q}\left|f *\left(G_{\alpha}\right)_{\frac{1}{\lambda}}(x)-\left(f *\left(G_{\alpha}\right)_{\frac{1}{\lambda}}\right)_{Q}\right| \mathrm{d} x
\end{aligned}
$$

thus

$$
\begin{equation*}
\lambda^{\alpha}\left\|J^{-\alpha}(f)_{\lambda}\right\|_{\mathrm{BMO}}=\lambda^{\alpha-n}\left\|f *\left(G_{\alpha}\right)_{\frac{1}{\lambda}}\right\|_{\mathrm{BMO}} . \tag{5}
\end{equation*}
$$

On the other hand we have

$$
\begin{equation*}
\left(G_{\alpha}\right)_{\frac{1}{\lambda}}=G_{\alpha} * Y_{\lambda} \tag{6}
\end{equation*}
$$

where

$$
\begin{equation*}
F\left(Y_{\lambda}\right)(\xi)=\lambda^{n}\left(\frac{1+|\xi|^{2}}{1+\lambda^{2}|\xi|^{2}}\right)^{\alpha / 2} \tag{7}
\end{equation*}
$$

Consider the expansion

$$
(1-t)^{\alpha / 2}=1+\sum_{m=1}^{\infty} A_{m, \alpha} t^{m}
$$

where $|t|<1$. The explicit formula for the coefficients $A_{m, \alpha}$ is as follows:

$$
\begin{equation*}
A_{m, \alpha}=\frac{(-1)^{m} \frac{\alpha}{2}\left(\frac{\alpha}{2}-1\right) \ldots\left(\frac{\alpha}{2}-m+1\right)}{m!} \tag{8}
\end{equation*}
$$

for all $m \geqslant 1$. We already know that

$$
\begin{equation*}
\Gamma(z)=\lim _{n \rightarrow \infty} \frac{n!n^{z}}{z(z+1) \ldots(z+n)} \tag{9}
\end{equation*}
$$

thus we can write (8) as follows

$$
\begin{aligned}
A_{m, \alpha}= & \frac{(-1)^{m} \frac{\alpha}{2}\left(\frac{\alpha}{2}-1\right) \ldots\left(\frac{\alpha}{2}-m+1\right)\left(\frac{\alpha}{2}+1\right) \ldots\left(\frac{\alpha}{2}+m+1\right)}{(m!)^{2} m^{(1+\alpha / 2)}} \\
& \times\left[\frac{m!m^{(1+\alpha / 2)}}{\left(\frac{\alpha}{2}+1\right) \ldots\left(\frac{\alpha}{2}+m+1\right)}\right] .
\end{aligned}
$$

By (9) we obtain

$$
\Gamma\left(1+\frac{\alpha}{2}\right)=\lim _{m \rightarrow \infty} \frac{m!m^{(1+\alpha / 2)}}{\left(\frac{\alpha}{2}+1\right) \ldots\left(\frac{\alpha}{2}+m+1\right)}
$$

Thus there exists $M_{\alpha}$ such that

$$
\left|\frac{m!m^{(1+\alpha / 2)}}{\left(\frac{\alpha}{2}+1\right) \ldots\left(\frac{\alpha}{2}+m+1\right)}\right| \leqslant M_{\alpha}
$$

for all $m$. Then

$$
\left|A_{m, \alpha}\right| \leqslant \frac{\left|\left(\frac{\alpha}{2}+m+1\right) \ldots\left(\frac{\alpha}{2}+1\right) \frac{\alpha}{2}\left(\frac{\alpha}{2}-1\right) \ldots\left(\frac{\alpha}{2}-m+1\right)\right|}{(m!)^{2} m^{(1+\alpha / 2)}} M_{\alpha}
$$

thus

$$
\begin{equation*}
\left|A_{m, \alpha}\right| \leqslant C_{\alpha} m^{-(1+\alpha / 2)} \tag{10}
\end{equation*}
$$

where

$$
C_{\alpha}=\left|\left(\frac{\alpha}{2}+m+1\right) \ldots\left(\frac{\alpha}{2}+1\right) \frac{\alpha}{2}\left(\frac{\alpha}{2}-1\right) \ldots\left(\frac{\alpha}{2}-m+1\right)\right| M_{\alpha}
$$

Next, since

$$
\frac{1+|\xi|^{2}}{1+\lambda^{2}|\xi|^{2}}=\lambda^{-2}\left(1-\frac{\left(1-\lambda^{2}\right)}{1+\lambda^{2}|\xi|^{2}}\right)
$$

we get from (7)

$$
\begin{aligned}
F\left(Y_{\lambda}\right)(\xi) & =\lambda^{n}\left(\frac{1+|\xi|^{2}}{1+\lambda^{2}|\xi|^{2}}\right)^{\alpha / 2}=\lambda^{n}\left[\lambda^{-2}\left(1-\frac{\left(1-\lambda^{2}\right)}{1+\lambda^{2}|\xi|^{2}}\right)\right]^{\alpha / 2} \\
& =\lambda^{n-\alpha}\left(1-\frac{1-\lambda^{2}}{1+\lambda^{2}|\xi|^{2}}\right)^{\alpha / 2}=\lambda^{n-\alpha}\left[1+\sum_{m=1}^{\infty} A_{m, \alpha}\left(\frac{1-\lambda^{2}}{1+\lambda^{2}|\xi|^{2}}\right)^{m}\right] \\
& =\lambda^{n-\alpha}+\lambda^{n-\alpha} \sum_{m=1}^{\infty} A_{m, \alpha}\left(1-\lambda^{2}\right)^{m}\left(1+\lambda^{2}|\xi|^{2}\right)^{-m}
\end{aligned}
$$

therefore

$$
\begin{equation*}
Y_{\lambda}=\lambda^{n-\alpha} \delta+\lambda^{n-\alpha} \sum_{m=1}^{\infty} A_{m, \alpha}\left(1-\lambda^{2}\right)^{m}\left(G_{2 m}\right)_{\lambda} \tag{11}
\end{equation*}
$$

where $\delta$ denote the delta-measure at 0 .
Let us denote

$$
X_{\lambda}=\sum_{m=1}^{\infty} A_{m, \alpha}\left(1-\lambda^{2}\right)^{m}\left(G_{2 m}\right)_{\lambda}
$$

Then

$$
\begin{aligned}
\int\left|X_{\lambda}\right| & \leqslant \int \sum_{m=1}^{\infty}\left|A_{m, \alpha}\right|\left|\left(1-\lambda^{2}\right)^{m}\right|\left|\left(G_{2 m}\right)_{\lambda}\right| \\
& \leqslant C_{\alpha} \sum_{m=1}^{\infty} m^{-\left(1+\frac{\alpha}{2}\right)}\left(1-\lambda^{2}\right)^{m} \int\left|\left(G_{2 m}\right)_{\lambda}\right|
\end{aligned}
$$

for $0<\lambda \leqslant 1$; but $\int\left(G_{2 m}\right)_{\lambda}=\int\left|\left(G_{2 m}\right)_{\lambda}\right|=F\left(\left(G_{2 m}\right)_{\lambda}\right)(0)=1$, thus $X_{\lambda} \in L_{1}$ for all $0<\lambda \leqslant 1$.

Now we can write (11) as follows

$$
\begin{equation*}
\lambda^{\alpha-n} Y_{\lambda}=\delta+X_{\lambda} \tag{12}
\end{equation*}
$$

By (5), (6) and (12) we have

$$
\begin{aligned}
\lambda^{\alpha-n}\left\|f *\left(G_{\alpha}\right)_{\frac{1}{\lambda}}\right\|_{\mathrm{BMO}} & =\lambda^{\alpha-n}\left\|f * G_{\alpha} * Y_{\lambda}\right\|_{\mathrm{BMO}} \\
& =\left\|f * G_{\alpha} * \lambda^{\alpha-n} Y_{\lambda}\right\|_{\mathrm{BMO}} \\
& =\left\|f * G_{\alpha} *\left(\delta+X_{\lambda}\right)\right\|_{\mathrm{BMO}} \\
& =\left\|f * G_{\alpha} * \delta+f * G_{\alpha} * X_{\lambda}\right\|_{\mathrm{BMO}} \\
& \leqslant\left\|f * G_{\alpha}\right\|_{\mathrm{BMO}}+\left\|f * G_{\alpha} * X_{\lambda}\right\|_{\mathrm{BMO}} \\
& \leqslant\left\|f * G_{\alpha}\right\|_{\mathrm{BMO}}+\left\|X_{\lambda}\right\|_{1}\left\|f * G_{\alpha}\right\|_{\mathrm{BMO}} \\
& \leqslant\left(1+\left\|X_{\lambda}\right\|_{1}\right)\left\|f * G_{\alpha}\right\|_{\mathrm{BMO}},
\end{aligned}
$$

where we have used Lemma 1. Finally

$$
\sup _{0<\lambda<1}\left\{\lambda^{\alpha}\left\|J^{-\alpha}(f)_{\lambda}\right\|_{\mathrm{BMO}}\right\} \leqslant C_{\alpha}\left\|J^{-\alpha} f\right\|_{\mathrm{BMO}} .
$$

This completes the proof of Theorem 1.

Theorem 2. Let $f \in S^{\prime}$ and $\alpha>0$. Then the following are equivalent:
(i) $J^{-\alpha} f \in \mathrm{BMO}$ and

$$
\lim _{\lambda \rightarrow 0} \lambda^{\alpha}\left\|J^{-\alpha}(f)_{\lambda}\right\|_{\mathrm{BMO}}=0
$$

(ii) $J^{-\alpha} f \in \mathrm{VMO}$.

Proof. Let $f \in S^{\prime}$. The following equality can be easily checked:

$$
\begin{align*}
& \frac{1}{\left(1+|\xi|^{2}\right)^{\alpha / 2}}-\frac{1}{\left(1+|\xi|^{2}\right)^{\alpha / 2}} \frac{\left(1+\lambda^{2}|\xi|^{2}\right)^{\alpha / 2}-\lambda^{\alpha}|\xi|^{\alpha}}{\left(1+\lambda^{2}|\xi|^{2}\right)^{\alpha / 2}}  \tag{13}\\
&=\frac{\lambda^{\alpha}}{\left(1+\lambda^{2}|\xi|^{2}\right)^{\alpha / 2}}+\frac{\lambda^{\alpha}|\xi|^{\alpha}-\lambda^{\alpha}\left(1+|\xi|^{2}\right)^{\alpha / 2}}{\left(1+|\xi|^{2}\right)^{\alpha / 2}\left(1+\lambda^{2}|\xi|^{2}\right)^{\alpha / 2}} .
\end{align*}
$$

It is known that there exists $\Phi_{\alpha} \in L_{1}$ such that

$$
\begin{equation*}
\frac{\left(1+|\xi|^{2}\right)^{\alpha / 2}-|\xi|^{\alpha}}{\left(1+|\xi|^{2}\right)^{\alpha / 2}}=F\left(\Phi_{\alpha}\right)(\xi) \tag{14}
\end{equation*}
$$

for all $\xi \in \mathbb{R}^{n}$ (see [3], p. 134). It follows from (13) and (14) that

$$
\begin{align*}
& J^{-\alpha} f-J^{-\alpha} f *\left(\lambda^{-n} \Phi_{\alpha}\left(\lambda^{-1} \cdot\right)\right)  \tag{15}\\
& \quad=\lambda^{\alpha} f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)-\lambda^{\alpha}\left[f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right] * \Phi_{\alpha} .
\end{align*}
$$

Thus by Lemma 1 we have

$$
\begin{align*}
& \left\|J^{-\alpha} f-J^{-\alpha} f *\left(\lambda^{-n} \Phi_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right\|_{\mathrm{BMO}}  \tag{16}\\
& \quad \leqslant \lambda^{\alpha}\left\|f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right\|_{\mathrm{BMO}}+\lambda^{\alpha}\left\|f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right\|_{\mathrm{BMO}}\left\|\Phi_{\alpha}\right\|_{1} \\
& \quad=\lambda^{\alpha}\left\|J^{-\alpha}(f)_{\lambda}\right\|_{\mathrm{BMO}}\left(1+\left\|\Phi_{\alpha}\right\|_{1}\right) \rightarrow 0 \quad \text { as } \lambda \rightarrow 0 .
\end{align*}
$$

On the other hand by (2) and using Lemma 1 together with the Lebesgue dominated convergence theorem one can see that the functions

$$
g_{\lambda}=J^{-\alpha} f *\left(\lambda^{-n} \Phi_{\alpha}\left(\lambda^{-1} \cdot\right)\right)
$$

belong to the space VMO for every $0<\lambda \leqslant 1$. Thus, since the space VMO is a closed subspace of the space BMO, (16) implies $J^{-\alpha} f \in \mathrm{VMO}$. This proves the implication (i) $\Rightarrow$ (ii).

Let $f \in S^{\prime}$ and $J^{-\alpha} f \in \mathrm{VMO}$. It is not hard to check that

$$
\begin{aligned}
\frac{\lambda^{\alpha}}{\left(1+\lambda^{2}|\xi|^{2}\right)^{\alpha / 2}}= & \frac{\left(1+|\xi|^{2}\right)^{\alpha / 2}}{1+|\xi|^{\alpha}} \\
& \times\left[\frac{1}{\left(1+|\xi|^{2}\right)^{\alpha / 2}}-\frac{1}{\left(1+|\xi|^{2}\right)^{\alpha / 2}} \frac{\left(1+\lambda^{2}|\xi|^{2}\right)^{\alpha / 2}-\lambda^{\alpha}|\xi|^{\alpha}}{\left(1+\lambda^{2}|\xi|^{2}\right)^{\alpha / 2}}\right. \\
& \left.\quad+\frac{\lambda^{\alpha}}{\left(1+\lambda^{2}|\xi|^{2}\right)^{\alpha / 2}\left(1+|\xi|^{2}\right)^{\alpha / 2}}\right]
\end{aligned}
$$

There exists a function $\psi_{\alpha} \in L_{1}$ such that

$$
\begin{equation*}
F\left(\psi_{\alpha}\right)(\xi)+1=\frac{\left(1+|\xi|^{2}\right)^{\alpha / 2}}{1+|\xi|^{\alpha}} \tag{17}
\end{equation*}
$$

for all $\xi \in \mathbb{R}^{n}$ (see [3], p. 134). Now we get from (17) and (14) that

$$
\begin{array}{rl}
\lambda^{\alpha} f & *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)=\psi_{\alpha} *\left[J^{-\alpha} f-J^{-\alpha} f *\left(\lambda^{-n} \Phi_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right]  \tag{18}\\
& +\left[J^{-\alpha} f-J^{-\alpha} f *\left(\lambda^{-n} \Phi_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right] \\
& +\psi_{\alpha} *\left(\lambda^{\alpha}\left[J^{-\alpha} f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right]\right) \\
& +\lambda^{\alpha}\left[J^{-\alpha} f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right]
\end{array}
$$

Using Lemma 1, we obtain

$$
\begin{align*}
\| \psi_{\alpha} & *\left(\lambda^{\alpha}\left[J^{-\alpha} f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right]\right) \|_{\mathrm{BMO}}  \tag{19}\\
& \leqslant \lambda^{\alpha}\left\|\psi_{\alpha}\right\|_{1}\left\|J^{-\alpha} f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right\|_{\mathrm{BMO}} \\
& \leqslant \lambda^{\alpha}\left\|\psi_{\alpha}\right\|_{1}\left\|J^{-\alpha} f\right\|_{\mathrm{BMO}}\left\|\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right\|_{1}
\end{align*}
$$

and
(20) $\left\|\lambda^{\alpha}\left[J^{-\alpha} f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right]\right\|_{\text {BMO }}$

$$
=\lambda^{\alpha}\left\|J^{-\alpha} f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right\|_{\mathrm{BMO}} \leqslant \lambda^{\alpha}\left\|J^{-\alpha} f\right\|_{\mathrm{BMO}}\left\|\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right\|_{1} .
$$

Thus (19) and (20) tend to zero as $\lambda \rightarrow 0$ and the last two terms on the right-hand side of (18) tend to zero (in BMO). Next, we will prove that the first two terms on the right-hand side of (18) also tend to zero (in BMO ). In order to do that let us pick $B_{1}=B(0,1)$ the unit ball centered at the origin, and $\delta>0$, then we have

$$
\begin{aligned}
\int_{\mathbb{R}^{n}} \frac{\left|J^{-\alpha} f(x)\right|}{(1+|x|)^{n+\delta}} \mathrm{d} x & \leqslant \int_{\mathbb{R}^{n}} \frac{\left|J^{-\alpha} f(x)-\left(J^{\alpha} f\right)_{B_{1}}\right|}{(1+|x|)^{n+\delta}} \mathrm{d} x+\int_{\mathbb{R}^{n}} \frac{\left|\left(J^{-\alpha} f\right)_{B_{1}}\right|}{(1+|x|)^{n+\delta}} \mathrm{d} x \\
& \leqslant C\left\|J^{-\alpha} f\right\|_{\mathrm{BMO}}+C_{1}
\end{aligned}
$$

Thus

$$
\begin{equation*}
\int_{\mathbb{R}^{n}} \frac{\left|J^{-\alpha} f(x)\right|}{(1+|x|)^{n+\delta}} \mathrm{d} x<\infty . \tag{21}
\end{equation*}
$$

Next, we need to prove that the convolution of the function $J^{-\alpha} f$ with the function $\lambda^{-n} \Phi_{\alpha}\left(\lambda^{-1}.\right)$ is defined as an absolutely convergent integral. Observe that from (21) the function $J^{-\alpha} f * g$ exists as an absolutely convergent integral for any function $g \in L_{1}\left(\mathbb{R}^{n}\right)$ satisfying the estimate

$$
\begin{equation*}
|g(x)| \leqslant \frac{C}{|x|^{n+\delta}} \tag{22}
\end{equation*}
$$

for all $|x|>1$ and some $\delta>0$.
Next, we will show that the function $\Phi_{\alpha}$ satisfies the condition (22). The following formula holds (see [3])

$$
\begin{equation*}
\Phi_{\alpha}(x)=-\sum_{m=1}^{\infty} A_{m, \alpha} G_{2 m}(x) \tag{23}
\end{equation*}
$$

Using formula (3) for the Bessel potential kernel $G_{2 m}$, we obtain that for $|x| \geqslant 1$ and $0<\delta \leqslant 1$,

$$
\begin{align*}
G_{2 m}(x) & =\frac{1}{(2 \pi)^{n / 2} 2^{m}(m-1)!} \int_{0}^{\infty} t^{(2 m+\delta) / 2} t^{-(n+\delta) / 2} \mathrm{e}^{-|x|^{2} / 2 t} \mathrm{e}^{-t / 2} \frac{\mathrm{~d} t}{t}  \tag{24}\\
& \leqslant \frac{1}{(2 \pi)^{n / 2} 2^{m}(m-1)!} \sup _{t>0}\left\{t^{-(n+\delta) / 2} \mathrm{e}^{-|x|^{2} / 2 t}\right\} \int_{0}^{\infty} t^{(2 m+\delta) / 2} \mathrm{e}^{-t / 2} \frac{\mathrm{~d} t}{t} \\
& \leqslant \frac{2^{(2 m+\delta) / 2} \Gamma\left(\frac{1}{2}(2 m+\delta)\right)}{(2 \pi)^{n / 2} 2^{m}(m-1)!} \sup _{t>0}\left\{t^{-(n+\delta) / 2} \mathrm{e}^{-|x|^{2} / 2 t}\right\} \\
& \leqslant a_{n} \frac{\Gamma\left(\frac{1}{2}(2 m+\delta)\right)}{(m-1)!}|x|^{-(n+\delta)} .
\end{align*}
$$

Using Stirling's formula (see [4]) for the Gamma function, we have

$$
\begin{equation*}
\frac{\Gamma\left(\frac{1}{2}(2 m+\delta)\right)}{(m-1)!} \leqslant c m^{\delta / 2} \tag{25}
\end{equation*}
$$

for all $m \geqslant m_{0}$. In (25) the constant $c$ does not depend on $\delta$ and $m$, and the constant $m_{0}$ does not depend on $\delta$. It follows from (24) and (25) that there exists a constant $\widetilde{c}_{n, \delta}$ such that

$$
\begin{equation*}
G_{2 m}(x) \leqslant \widetilde{c}_{n, \delta} m^{\delta / 2}|x|^{-(n+\delta)} \tag{26}
\end{equation*}
$$

for all $m \geqslant 1$ and $|x| \geqslant 1$. Next (10), (23) and (26) show that the function $\Phi_{\alpha}$ satisfies condition (22). Hence, the function given by

$$
\lambda^{-n}\left|J^{-\alpha} f\right| *\left|\Phi_{\alpha}\left(\lambda^{-1} \cdot\right)\right|(x)=\int_{\mathbb{R}^{n}} \lambda^{-n}\left|J^{-\alpha} f(y)\right|\left|\Phi_{\alpha}\left(\frac{x-y}{\lambda}\right)\right| \mathrm{d} y
$$

is well defined. Therefore, using Lemma 1, we have

$$
\left\|J^{-\alpha} f *\left(\lambda^{-n} \Phi_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right\|_{\mathrm{BMO}} \leqslant\left\|J^{-\alpha} f\right\|_{\mathrm{BMO}}\left\|\Phi_{\alpha}\right\|_{1} .
$$

Since

$$
\int_{\mathbb{R}^{n}} \Phi_{\alpha}(y) \mathrm{d} y=F\left(\Phi_{\alpha}\right)(0)=1
$$

we have

$$
\begin{align*}
\| J^{-\alpha} & f-J^{-\alpha} f *\left(\lambda^{-n} \Phi_{\alpha}\left(\lambda^{-1} \cdot\right)\right) \|_{\mathrm{BMO}}  \tag{27}\\
& =\left\|\int_{\mathbb{R}^{n}}\left(J^{-\alpha} f(\cdot)-J^{-\alpha} f(\cdot-y)\right) \lambda^{-n} \Phi_{\alpha}\left(\frac{y}{\lambda}\right) \mathrm{d} y\right\|_{\mathrm{BMO}} \\
& \leqslant \int_{\mathbb{R}^{n}} \lambda^{-n}\left|\Phi_{\alpha}\left(\frac{y}{\lambda}\right)\right|\left\|J^{-\alpha} f(\cdot)-J^{-\alpha} f(\cdot-y)\right\|_{\mathrm{BMO}} \mathrm{~d} y
\end{align*}
$$

where we have used the estimate (1). Since $J^{-\alpha} f \in \mathrm{VMO}$ and

$$
\lim _{\lambda \rightarrow 0^{+}} \lambda^{-n} \int_{|y|>\varepsilon}\left|\Phi_{\alpha}\left(\frac{y}{\lambda}\right)\right| \mathrm{d} y=0
$$

for every $\varepsilon>0$, we get from (27)

$$
\begin{equation*}
\lim _{\lambda \rightarrow 0^{+}}\left\|J^{-\alpha} f-J^{-\alpha} f *\left(\lambda^{-n} \Phi_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right\|_{\mathrm{BMO}}=0 \tag{28}
\end{equation*}
$$

Finally, from (18), (19), (20) and (28) we have

$$
\lambda^{\alpha}\left\|J^{-\alpha} f\right\|_{\mathrm{BMO}}=\lambda^{\alpha}\left\|f *\left(\lambda^{-n} G_{\alpha}\left(\lambda^{-1} \cdot\right)\right)\right\|_{\mathrm{BMO}} \rightarrow 0
$$

as $\lambda \rightarrow 0$ and the proof of Theorem 2 is complete.
Acknowledgments. The authors wish to thank the anonymous referee for the thorough review and insightful suggestions.

## References

[1] F. John and L. Nirenberg: On functions of bounded mean oscillation. Comm. Pure Appl. Math. 14 (1961), 415-426.
[2] D. Sarason: Functions of bounded mean oscillation. Trans. Amer. Math. Soc. 201 (1975), 391-405.
[3] E. M. Stein: Singular Integrals and Differentiability Properties of Functions. Princenton University Press, Princenton, NJ, 1970.
[4] W. R. Wade: An introduction to Analysis, 2nd ed. Prentice Hall, NJ, 2000.
Authors' addresses: René Erlín, Castillo Department of Mathematics, Ohio University, Athens, Ohio 45701, e-mail: rcastill@math.ohiou.edu; Julio César Ramos Fernández, Departamento de Matemáticas, Universidad de Oriente, 6101 Cumaná, Edo. Sucre, Venezuela, e-mail: jramos@sucre.udo.edu.ve.

